Distance, Midpoint, Slope and partitioning a line Review                     Name: _____________________________________
Find the slope of the line that passes through the following points on #1-6.
1.  (-1, 2) and (3, 2)				2.  (-5, 6) and (0, -10)			3.  (-1, -2) and (-3, -4)
	


	
4.  (3, 4) and (3, 8)				5.  (1,- 4) and (-6, 5)			6.  (-2, 0) and (6, 2)



7.  What is the slope of the line y = 2?				8.  What is the slope of the line x= -5?




9.  For the line that passes through the points (-1, 6) and (2, -5), find the slope of a line parallel to it.






10.  For the line that passes through the points (-1, 6) and (2, -5), find the slope of a line perpendicular to it.






11.  For the line that passes through the points (2, 6) and (4, 10), find the slope of a line parallel to it.






12.  For the line that passes through the points (2, 6) and (4, 10), find the slope of a line perpendicular to it.







13.  Find the slope by looking at graph.				14.  Find the slope by looking at graph.
[image: ]					[image: ]				


In #15-18, decide whether the equations are parallel, perpendicular, or neither.





15.  		16  .  		17.  		18.  





19.  What is the slope of a line perpendicular to the line?

		



20.   What is the slope of a line parallel to the line?

		


21. Find the coordinates of the midpoint between (3, -4) and (-6, 2)

	
	



22.  Find the coordinates of the midpoint between (2, -1) and (-8, -4)






23.  Find the coordinates of the midpoint between (1, 8) and (7, 4)







24.  Find the distance between the two points in the following picture.
	 [image: ]
		


25.  Find the distance between (1, 4) and (-2, 3)








26.  Find the distance between (1, 0) and (4, 2)








[bookmark: _GoBack]27.  Which two segments in the drawing below are most likely parallel? Perpendicular?
		[image: ]








28.  A quadrilateral is placed on the grid point as shown.  Find the midpoint from point B to point C.

[image: ]



29.  Using the same picture of the quadrilateral in #28, find the slope of and find the slope of 



30.  Using the same picture of the quadrilateral in #28, find the slope of a line perpendicular to 




31.  Find the perimeter of below.
	[image: ]



32.  Using the same picture from #31, what is the slope parallel to?





33. A line segment portioned by a ratio of 2:3 can be thought of as having how many congruent segments?




34.  On a number line, point A is located at 1 and point B is located at 9. At what point must X be located so that the line segment from A to B will be partitioned in a 3 to 5 ratio?

[image: ]


35. Given line segment CD with coordinates C(-1,3) and D(9, 11). Find the horizontal distance and the vertical distance from C to D.


36. The coordinates of the endpoints of AB are A(-6,-5) and B(4,0). Point P is on AB. Determine the coordinates of point P such that AP:PB is 2:3.


37. Given a line segment from A to B. Point C lies on the segment ¾ of AB from point A. What is the ratio AC:CB?



38. Point X partitions segment AB in the ratio 2:7. If A(-2,-3) and B(20, 6), find coordinates of X.
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